[EWEHBEMRE 255 1989

AUTUMN PT « 0 METER)
120E 150E

60S

"120E  1S0E 180 1504 120W 90
CONTOUR INTERVAL = 1.0 C

K 1.1.49 HKFBICBIFLEF V¥ v VKBATSHA (HBE)

AUTUMN PT ( 20 METER)
120E 150E 180 150KW 120W 90N

120 1SOE
CONTGUR INTERVAL = 1.

B 1.1.50 HFICBIFHRT ¥ v VKRAKFES (20m)



[ETEHAMBE 5T 1989

AUTUMN PT ( 50 METER)

120E 1SO0E 180 150K 120K 90NW

120E 1S0E 180 150W  120W  9OW
CONT@UR INTERVAL = 1.0 C

44

1.1.51 KBIZBIFBRF V¥ v VKRKESH (50m)

AUTUMN PT ( 75 METER)
120E 150€ 180 150W 120U 30W

206 ISOE 180 150  120W  9OW
CONTOUR INTERVAL = 1.0 C

B 1.1.52 HKBIIBIFLRT VY 2 VAKBRKFESH (75m)



KEMEMBMEE  $£255 1989

‘ AUTUMN PT ( 100 METER)
120E 150E 180 150K 1201 90K

120E 150E 180 150W 120KW 90W
CONTOUR INTERVAL = 1.0 C

1.1.53 BEB|IIBITHET V¥ v VAKRKFESA (100m)

AUTUMN PT ( 150 METER)
120E 150E 180 150W 120K 90K

i

ISOE | 180 150W  120MW 90N
CONTGUR INTERVAL = 1.0 C

T 120E

1.1.54 KFIZBITBRT ¥ v VKIBEKFEDSA (150m)



[BBIEPTHAMRE %255 1989

AUTUMN PT ( 200 METER)
120E 150E 180 150W - 120KW 90K

120€E 1S0E 180 150W 120W 90NW
CONTOUR INTERVAL = 1.0 C

M 1.1.55 HKEICBIFLEF VT v VKBKESHE (200m)

AUTUMN PT ( 250 METER)
120€ 150€ 180 150W 120K SONW

T120E  ISQE 180 150W  120M

CONTBUR INTERVAL = 1.0 C

B 1.1.56 KBIZBIFTHET Y v VKBKESAH (250m)



TRMRAHMBE  H25% 1989

AUTUMN PT ( 300 METER)
. 120E 1S0E - 180 150K 120K

6ON ¢ 60N

1305

120€ 150E 180 150W 120W 90K
CONTOUR INTERVAL = 1.0 C

X 1.1.57 H%FIZBIIBERT VT v VKBAFESAHE (300m)

AUTUMN PT ( 400 METER)
120E 1S0E 180 150K 120K 90K

60N

30N

1305

B80S

" 120F 15S0E 180 150W 120MW 90K
CONTOUR INTERVAL = 1.0 C

1.1.58 BFIIBITHKT V¥ v VKEKFEGH (400m)



KEREFEMERE $255 1989

AUTUMN PT ( S00 METER)
120E 150E 180 - 150K 1204 90K

EQ

305+

603+

120E 150E 180 . 1S0W 120HW 90K
CONTOUR INTERVAL = 1.0 C

1.1.59 BFIZBIFBET V3 v VKEKESH (500m)

AUTUMN  PT ( 600 METER)
120E | 1S0E . 180 1S0W . 120W . 90W

60N

+30S

805 - 80S

1506 160 1SOW  120W  SOW
CONTGBUR INTERVAL = 1.0 C.

120F

1.1.60 FFICBIFTBRT V¥ v VKEAFESH (600m)



KEMAFBMEBE 255 1989

AUTUMN PT ( 800 METER)
120E 150E 180 150NW 120K S0NW

120E 150E 180 1S0W 120W 90N
: CONTOUR INTERVAL = 0.2 C

M 1.1.61 BKEICBIFBET V¥ v VEKBRKAESA (800m)

AUTUMN  PT (1000 METER)
1 20F 150E 180 150W 120W 90N

GON

" 1206 IS0E 180 150N 120M 90M
CONTBUR INTERVAL = 0.2 C

1.1.62 HKFIIBITBHRET ¥ ¥ v VKEKFESA (1000m)



S[EWEFHMBRE 255 1989

AUTUMN PT (1200 METER)
120E 150E 180 150W 120KW S0W

60N

GON

30N

£Q

3054 %305

60S 803

120E 150K 180 150KW 120KW 90NW
) CONTOUR INTERVAL = 0.2 C

® 1.1.63 HKBIZBIFBHET v ¥ v VKBKFESM (1200m)

AUTUMN PT (1500 METER)
120E 15S0E 180 150KW 120K 90W

" 120E 150E 180 150K 120N 30K
CONTOUR INTERVAL = 0.2 C

B 1.1.64 HKEIZBIFLRF VY v VAKEBRKTESA (1500m)





